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Question Number : 1 Question Id : 4509386401 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

If a real valued function f:[a, o) —

3+ 2b =

a - i -
]r'[l-l'ﬁ:l L I.sllll-r, E"I'-\"\-I ':'.'; '::?

m'ql L ,mt':lﬁ!

Options :

20

i

- o

tad I-\.-tl-IL_J-\.-iJ\. fdl:i-_ 5. A

*'.rh:

b, o0} defined by fx) =20 — 3048 15 a bijection. then
V) oPD] [oENON0,  fl)=If -5 TP
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Question Number : 2 Question Id : 4509386402 Display Question Number : Yes [s Question

Mandatory : No Calculator : None Respanse Time : NLA Think Time : N.A Minimum Instruction
Time: 0

1

— 4 V4 =017 1
Jiogasiza-3)

The domam of the real valued function f(x) =

T O (SENEDO Fx) = e + V& — 7 GO0, (DT

y logpsiix—3)

Options :

53)

1 =
Null Set
r"‘"l.""r' i
- A7) Aeaed
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R
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Question Number : 3 Question Id : 4509386403 Display Question Number : Yes I[s Question

Mandatory : No Calculator : None Response Time : NLA Think Time : N.A Minimum Instruction

Time : 0

254+594+813+ 11.17 + -+ to 10 terms =
254+ 59+813+ 1117 + - 10 2 005 =

Options :

3355
1, =

4555
2.

1375
3. .

1380
4. =

Question Number : 4 Question Id : 4509386404 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

Options :

(a—biib—cilce—aat+b+e)

(a—byb —c)(c—a)
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(a—bBWb—c)a—c)lab+ bc + ca)

{a— b)(b—c)Me—a)ab+ be +ca)

Question Number : 5 Question Id : 4509386405 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time : 0

1 2

Ifﬁs[
2 _§

J and aA* + fA = 2] forsome «,f E Rthena + § =

i I_L: _25] S80I a, fER O ad? + fA=21 BB« +f =

Options :

g

1. =

Question Number : 6 Question Id : 4509386406 Display Question Number : Yes [s Question

Mandatory : No Calculator : None Response Time : NLA Think Time : N.A Minimum Instruction
Time : 0
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The svstem of eomabons ¥ +2v+32=56, r+3r452z=9 x4+ 5v+az=12 lhas m
solutton when a =

o e o) 1+ +5z=9 r42v+3z=6 +Srtar=12 5 PO

ﬁrﬁ";}- £ a=

o

Options :

5

1. -

Question Number : 7 Question Id : 4509386407 Display Question Number : Yes [s Question
Mandatury ‘Mo Caleulator : Nane !tegpurl ce Time : N.A Think Time : N.A Minimum Instruction
Time: 0

[f nr. o are respectively the least positive and greatest negatrve mteger valuss of & such that

N
1-
(—E] = —[theam-n=
141

nk
1=i ; - _i ; o i
(1 '-] = —i edhty 40T b dended ST m r e A0 Sdipgrol
+i " R

8ok l'{-'ﬁ-;g QuEaaPg08 DENDOCNE m - =

Options :

4
o
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Question Number : 8 Question Id : 4509386408 Display Question Number : Yes [s Question

Mandatory : No Calculator : None Response Time : NLA Think Time : N.A Minimum Instruction
Time: 0

It & complex mumber 2 18 such teat E 15 purely nngmary munber and the bocus of 2 15 2 closed

curve. then the area of the ragion bounded by that closed curve and lying i the first quadrant is

— wA3H 64 18 dopg eahibtum &d) 2.8 Hodd Sop: Sbatn 2 Fng

Docuado ad Hosy® Siko sand il Fdod Gobr & Hodys SEswd
30000 |Zros T

Options :

2
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Question Number : 9 Question Id : 4509386409 Display Question Mumber : Yes [s Question
Mandatory ;: No Calculator : None Response Time : N.A Think Time ;: N.A Minimum Instruction
Time : 0

(cos a+i sin a)®

Real part of - - 15
b (sin b+icos b

{cos a+isina)®
(sin b+i cos b)®

Options :

sin (ba — 8b)

cos{ba — Bb)

Ir'-..l
i

sin{6a + 8b)

cos (ba + Bb)

.F-
%

Question Number : 10 Question Id : 45093868410 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : NLA Think Time : N.A Minimum Instruction

Time : 0

1
4 + — =
81—

e
&+ 00

Options :
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(2++5),(2-5)

2 ++v5

L UIE

2+ %.-'3

Question Number : 11 Question Id : 4509386411 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Ifx®+ 50x 46 = 0and v* + 3ax + 2 = 0 have a common roof then that conumon root is
- W i -\.'5 €Wl W
1* + 5+ 6= 000000 ¥ 4 3ax +2 = 0 b80ered 28 dh P00 4o,
& o) 3 cnren
Options :
iior) -3

3 (B —3

| F

2(or) =2

2 (Do) -2
e
& i
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Question Number : 12 Question Id : 45093286412 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Respaonse Time : M.A Think Time : N.A Minimum Instruction

Time : 0

If e, £, y are roots of the equation +* + ax

‘tbv+e=0thena 45 4y t=

e fyeny® +ad +hx+e=0HhdrermammB g+l 4y l=

Options :
i
'I -
b
C
2.
e
i
3. e
h
a
4.
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Question Number : 13 Question Id : 4509386413 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : NLA Think Time : N.A Minimum Instruction

Time : 0
If the roots of the equation x* — 13x° + Kx — 27 = 0 are in zeometric progression then K =
¥ — 1322 + Ky — 27 = 0 Hedidienn T Sreren e 368 sohiK =
Options :

a0

Question Number : 14 Question Id : 45093856414 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

If all the letters of the word MASTER are permuted m all possible wavs and words (with o
without meamng} thos formed are amanged m dictiosary order, then the mak of the word
MASTER 5

MASTER sdoda 80 edvad 208 srodod @diud Bo edo

b | ; -z - :
B00) SaotnSe N 1E0s 807 e hod MASTER a7 o Gy §8

Options :
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Question Number : 15 Question Id : 4509386415 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time : 0

Ifset A comtams ¥ elements then munber of subsets of A wlneh contain at kast ¢ elements 1

A 87T 2ad 5 Aresenod, (050 6 AreTaod A4 Sl o

A

el

Options :

28

Pl
¥

Question Number : 16 Question Id : 4509386416 Display Quastion Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
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The number of different permutations that can be formed by taking 4 letters at # tine from the
letters of the word ‘REPETITION 15

‘REPETITION' 5130 %000 sime Sob o370 4 edred &nsn 28
23 e 2dS) T Momp;

Options :

| 380

1218

1398

1286

Question Number : 17 Question Id : 4509386417 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time : 0

Numerically greatest term in the expansion of (5 + 3x)%. wheny = 1. 15

7 At b F R AR
¥ = 1 830000 (5 + 3x)® an)Sid QOEFIHG0T (104 oo
Options :

3°x 53

37 % 59
R 4
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Question Number : 18 Question Id : 4509386418 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : NLA Think Time : N.A Minimum Instruction

Time: 0
2 24 246
B oy 00 =
3 36 369
Options :
3
5
1.

- 2
=
2.4
2
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)
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Question Number : 19 Question Id : 4509386419 Display Question Number : Yes Is Question
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Mandatory : No Calculator : None Response Time : NLA Think Time : N.A Minimum Instruction
Time : 0

1 Ax+B Gx+D

Ifj."‘+] . ¥e4yTe+1 + 22— Trs1 then 8D —A4C =

1 Ax+B Cx+D
= = — RO, BD — AC =
¥ +1 22 +2ax+l a7 2x+1

Options :

3
g

!_l.l
b

Question Number : 20 Question Id : 4509386420 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : NLA Think Time : N.A Minimum Instruction
Time: 0

The smallest posstrve valnz {in dagrees) of & for whach
tan(@ 4+ 100°) =tan(# + 50°) tan(f) tan( & — 50°) & valid, 15
tan(f 4 100°) = tan(8 4 50°) tan(@) ran(d — 50°) T3E0eren &GEhIHD &y 0 Gl

gk Ormed s e (Gined)
Options :

60°

o
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45°
2.

ap°
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Question Number : 21 Question Id : 4509386421 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time ;0

The value of 5 cos @ + 3 cos (E + -E) + 3 lies between

5cosf +3cos (8 +5) + 3 gy Dess

Options :
-2 and 5
-2 200N 5 £ 0GE SoLN08
1 =
—1 and B
—1 0000 8 ® G Gotnod
2. %
—3and 6
—3 28050 6 @ a5 SGOLNOS
=
g 9
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-4 and 10
—4 2000 10 © 06 Gotnod

Question Number : 22 Question Id : 4509386422 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Statement {51): sin 557 + 5in53% —5in 19° —s5in 17° = cos 2°
- ! 1 1
Statement (S2): Range of ———— 15 [—. —]
3=cosl X 4" 2
Which one of the following 1s correct?

|36313A30 (81): sin55” + sin53° — sin 19 — 5in 17° = cos 2”
o o ey 1 = i o 1 l
Lol tiraO (S2): ST Olnsy arfed L. 2]
Bo8 TS DO Hebsdo?
Options :

Baoth (S1) and (82) are true
(S1) a8 Gk (82) DO cded i

‘I__‘ wa
Both (51) and (S2) are false
(S1) .cn8ain (82) DOLAT €985
2. F Y
($1) 15 true, (52) is false
(S1) FIEAE00. (82) E2IEELN
3, =
4, &
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(51)1s talse, (52} 15 true

(51) @305 22000, (52) raed 5o

Question Number : 23 Question Id : 4509386423 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : NLA Think Time : N.A Minimum Instruction
Time : 0

Thie geniernl solution of 4 cos2x — 43 sin2y + eosFx — 3 sindx +oosx -3 giny =0

400820 — 43 sin2y + cosdn—+3 sindi teosx -3 sinx =0 OGS, APorin

S o
Options :

T n

2 3
1. =

nm

2 7%
o ™

i iT

2 12
3,

e

2 12

S

Question Number : 24 Question Id : 4509386424 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time : 0
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The general solution of 2cos?x — 2tan x +1=0 15

2 cos? x — 2 tan x +1=0 QA0E} O PO
Options :

EGED
i = #
4

T
2nm + I'” EZ

T
nm+—nezg
3

Question Number ; 25 Question Id : 4509386425 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : NLA Think Time : N.A Minimum Instruction

Time : 0

cosh(sinh™ (V8 )+cosh™'5) =

Options :
VEo+4Z
"I : =
15+8v3
2.+
3 -~
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Question Number : 26 Question Id : 4509386426 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

In a riangle ABC, if vy =2r; = 3r3. thensin A: sin B:sin € =

[ - 2 5 5
2.5 [&'E';S}ED ABC & 1y =2y, =31y e, sin A:sin B:sinC =
Options :

5:4:

i

34

IJ

G: 3:

P

5:4:3

.h'
%

Question Number : 27 Question Id : 4509386427 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time : 0
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In AABC if B = 90° then 2(r + R) =
AABC &5 B = 90° ®00® 2(r + R) =

Options :

L
%

Question Number : 28 Question Id : 45093856428 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

In a tnangle ABC. if fo—0) (s—e¢t = (b—c) (s—a), then ry+r3 =

2.8 (B 20 ABC &' (a—=b) (s—c) = (b—c) (s—a). OOV rytr =

Options :
'."E — Iy
Y. -
31
2_ =
2"1
3, ¥
4.
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Question Number : 29 Question Id : 4509386420 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : NLA Think Time : N.A Minimum Instruction

Time: 0
L, M. N are the mid poings of the ades PO, QR and RP of APQR. respectively. then
QM+ IN+ML+RN-MN-QL=
L M. N &0 O3 APOR GR0% b2aine PO, QR RP & o0¢5t Dochayen eiond
QM+IN+ML+RN-MN-QL =

Options:

PQ + QR + LM + MN

1. =
. LP + PM + MQ
PQ + OR — PR
3 ¥
LM+ NMN + NR
g =

Question Number : 30 Question Id : 4509386430 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time : 0
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Lt +«b=Ti—5—4kand a=7+37 -2k If the length of projection of Hondis
iIllmlill|=

v 14

i xb="7i-5 -4k 000 d=1+37- Bewofofl & D b Eod) ooa I8 Jadn

Ptho) =008 [B] =
R
Cptions :

121

Question Number : 31 Question Id : 4509328431 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time : 0

Let ABC be an equilateral triangle of sidz a. M and N are two pomts on the sides AB and AC
raspectively such that AN = K AC nnd AB =3 AM. If the vactors BN and CM are perpendicular.
then K=

ABC &30 Zhzdn &t a m e 28 Adizran (@ehzadn. AB Sbcly Ac

HESDOF ST M DO ¥ ei Dodigen AN =KAC &foh AB=3AM

ihat daman. ddden BN hfidly Men oo G, K=

Options :

4
™

1=
K
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1
5
2
2, = 3
1
5
3_'-.
2
5

Question Number : 32 Question Id : 4509386432 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : NLA Think Time : N.A Minimum Instruction

Time : 0

Let  and b be twa non-collinear vectors of muit modulus. i =d—(d . blband =a x 6,

thzn
i i iy st
7 <Bcln ben .88 Sradom e A0gdires 580 Dodh alden. 1= a-(a.blb
~ofdin f=axbaon®, |f =

Options :

il + i . &|
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Question Number : 33 Question Id : 4509386433 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The shortest distance between the skew lines 7= (=i = 2j = 3k) + {30 - 2f - 2k) aud

T=(7i+4k) +s(i =2+ 2k) is

e Rradd08en 7= (i — 27 — 3k) + t{3i — 2 - 2k} nBobn

7= (71 +4k) + (i - 2 + 2k) © iy $Ra) dirto
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Question Number : 34 Question Id : 4509386434 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
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Time: 0

L o and M denote the mean deviations abont mean and about median respectively of the data 20,

815 2.7 5 11 then the mean devianon about the mesn of m and M 15
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Question Number : 35 Question Id : 4509386435 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

If 7 differ=at balls are distmbuted among 4 different boxes, then the probabality that the frst box

contains 3 balls 15
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Question Number : 36 Question Id : 4509386436 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : NLA Think Time : N.A Minimum Instruction
Time : 0

Our of first 5 consecutive namral numbers. If two different vumbers v and v are chosen at
rendonm, then the probability that x* — v* 15 divishle by § 15
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Question Number : 37 Question Id : 4509386437 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : NLA Think Time : N.A Minimum Instruction

Time: 0
A bag contans 2 white, 3 green and § red halle. If three balls are drawn one after the other
without replacemant. then the probabality that the lact ball drawn was red 1
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Question Number : 38 Question Id : 4509386438 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : NLA Think Time : N.A Minimum Instruction

Time : 0

There are 2 bags each coutammep 3 white and § black balls and 4 bags each contauung & wlute
and 4 black balls. I a ball drawn randomly from a baz 15 found to be black, then the probabilsty
that tlus ball 35 from the first set of bags 15
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Question Number : 39 Question Id : 4509386430 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time : 0
I rwo cards are deswn randomiy from a peck of 32 plaving cards, then the mean of the
probability distbution of mumber of kings is
=

i (e T ey W § £ wak ey R S o o b o o o . .
51 WSaSen e 48 Wi Lol Dod W8 anfited drdyd)sor

i Y ) 4
sdianoad )}, TPEe) o) Ghod) NoeTaEr Seraa alnd), sofndiabo

Options :

215
221

-
[

3

et

188
221

Question Number : 40 Question Id : 4509386440 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
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In & consignmant of 15 amcles. 1t 1 found that 3 are defective. If 2 sample of 5 amicles 15 chosen
at ratdowm from 1f, then the probabiity of having 2 defactive arfacles s
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Question Number : 41 Question Id : 4509386441 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time ! NLA Think Time : N.A Minimum Instruction
Time: 0
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[f & varsable stranght lne passme through the pome of mbersection of the bnes ¥ — 2y +3 =10
and 2x — y— 1= 0 mrersects the X, ¥ - axes at A and B respectvely. then the equanoa of the

locus of a pomt whoch divides the segment AB w the rano -2+ 3 &2
v—2y+3=0, li-y-1= 0 AdeTney pots e 3y oo Al 2.8 Sod
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Question Number : 42 Question Id : 4509386442 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
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Powt (-1, 2] 15 changed to {2, b} when the ongmn is shifted to the point (2, - 1) by translation of
axes, Pount (o, 0) 15 changed fo (¢, ) when the axes are rofated through an angle of 45° about the
rew ongm. (¢, ) s changed to (e, f) when (¢, ) is reflected through v = x. Then (¢, /) =

AFOLodegad Adrodd s=ENtNN i dodhd (2-1) SN
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Question Number : 43 Question Id : 4509386443 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : NLA Think Time : N.A Minimum Instruction
Time: 0
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Thsz pount ( a, b) ¢ 1he foot of the perpendicnlar drawn fron: the pomt (3, 1) to the lme
A+3y+4=01(p o) he omage of (a,b) with respect to the line 3x =4y + 11 =0, then
B

a + ] 3

(3,11 E)0ched DB x +3y +4=0 Ao A ©CTE0 (a,5) L0,

34y + 1= 083 59 (o.b) Gy (HBD0n0 (p.o) B, 43 =
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Question Number : 44 Question Id : 4509386444 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Respanse Time : NLA Think Time : N.A Minimum Instruction
Time: 0

A ray of light passmg through the powt (2,3) reflects on Y-axis at a powt P, If the reflected my
passes throwgh the powt (3, 2) and P = {a, b) then 5 =
(2,3) Doths o Fah 2.4 sod Boo yelich Pead Dodhd 5§ Somido

Tochdaod, iorls B, (3.2) Doriss oo Hhof SHAa P = (a.b) emd,
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Question Number : 45 Question Id : 4509386445 Display Question Number ; Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time : 0

The area (m square umifs) of the tiangle formed by the bnes 62° + 130y + 61° = O and

1+2v4+3=0s

6x? 4 Bay 4 6% = 0 0BG x + 27 4+ 3 = 0 Bed D63 |Bibzo Gug, 370

(15650 CRrRLS)
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Question Number : 46 Question Id : 4509386446 Display Question Number ! Yes Is Question
Mandatory : No Calculator : None Response Time : NLA Think Time : N.A Minimum Instruction

Time : 0

The angle subtended by the chord ¥ + v = 1 = O ofthe cimle x® + v = 2v + 4y + 4 = Dat the
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e ppt =2 4 8 =0 S0 Bl sy 4 = ‘lanaéz At T A
I'I - +']'_I. + X — D :l.-';",'\-_-l"_' '.,li}.'l‘.'lr_r Wy X+y=— I. = D,. bt "-\_.:l 'D'.A.-\.'l.'q._'_; JJI-Q- Lad H-]'
50
Options :
O
n:ls_"{ _)
v 34
1.+
m
2
2.8
e
cus_l( ,_}
V13
3. -
m
3
3. I3

i“_-m”—-—_-_- (A B L 1 o &8 R L L R & A 3 L B I N A R L J A &8 & R 2 3% R 1. R L _B QL_Q& A R L L A& 4 R & L L B 4L 4 2 _F_ A& 4 A & R L _ &R _J2_ R Q4 % L & R _R_J2 L .} -"q_-‘



Question Number : 47 Question Id : 45093286447 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : NLA Think Time : N.A Minimum Instruction

Time : 0

Let P be any point on the cirele x2+v%= 125, Let L be the chord of coutact of P with respest 1o the
circle x*+v" =9. The locus of the poles of the Kinies L with respect o the circle x°+y" = 3615
it =28 SyB02 P T 08 Doy P4f =9 Gyl P Gud A0 L
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Options :
.q'z = 2{x
1 .
1z+_1,z 1
=) 36
2. %

v 34y =400

Question Number : 48 Question Id : 45093286448 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
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If the circles § = x249% - [dvdby+33=0 and 5'=3349" - 2 =0 {a € N) have 4 common
tangenfs then possiblz munber of vakues of ¢ s
O § = o 4y° - Mabby+33=0 000 S22 - el =0(aEN) &0 4 Go0}0
22055 Baesed 56 dot, o 5o Ardedhy dende dowm;
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Question Number : 49 Question Id : 4509386449 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

1f the ares of the circumecirele of manele formed by the hne 2x 4 54+ & = 0 and the posstive
: . 2R ;
coordinate axes 1§ =5, s, then || =
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Question Number : 50 Question Id : 4509386450 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The circle § = 1%+ — 2x —dy+1 =0 cuis the y - axis at A, B (0A > OB). Tf the radical axis of

S=0ad§ = .H*f — 4x —2y=2 =0 cots the v - axus at C then the rabo m which C divdes

ABis

§ =y - - 4+l =0 580 y- 63) A, B © 58 903006 (04> 0B), 5 =0
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Question Number : 51 Question Id : 4509386451 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : NLA Think Time : N.A Minimum Instruction
Time: 0

If the circle S =0 cuts the circles v 9" — 2e+6r=0, v y* - 4x = p+6=0 and

174y = 120+ 2y+ 3= D orthogenally. then equation of the tangent ai (0. 3) on § =0 18
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Question Number : 52 Question Id : 45093286452 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : NLA Think Time : N.A Minimum Instruction
Time:0
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The normal drawn at a point (2, =4) on the parabola v* = Bx cuts agam the same parabala #
(e fi) then e+f=

(2, =4) b ? = B DEediens fa edoon By A08 eF Srdaded) (o f)
50 HodT af=
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Question Number : 53 Question Id : 4509386453 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : NLA Think Time : N.A Minimum Instruction
Time : 0
o i
I n tangant of slope 2 to the ellipse a-1+ h-z-'l tonches the cucle x°+y° =4, then maxmmm

valoe of b 1
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Question Number : 54 Question Id : 4509386454 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : NLA Think Time : N.A Minimum Instruction
Time : 0

The locus of the mid poiats of the chords of e hyperbola +® — % = 2° which touch the parabola
.'r: =dax 15
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Question Number : 55 Question Id : 4509386455 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time : 0
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Question Number : 56 Question Id : 4509386456 Display Question Number ; Yes Is Question

Mandatory : No Calculator : None Response Time : NLA Think Time : N.A Minimum Instruction
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Time: 0
if A(1,2,0),B(2,0,1),C(=3.0.2) are the vertices of A ABC. then the length of the intemal
hissctor of LBAC 1
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Question Number : 57 Question Id : 4509386457 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The perpendicular distance from the powt (-1, 1,0) to the line jommg the powmts (0,2, 4) and
(30,18
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Qonardo
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Question Number : 58 Question Id : 4509386458 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : NLA Think Time : N.A Minimum Instruction
Time : 0

A line L passes through the points (1,2, -3) and (3,3, 1) and a plane # passes throngh the
poatts (2, 1,—2),(-2,-3,61,{0,2,—1). If # 15 the angle between the hine L and plane x. then
27 cos™ 8 =

L &7 25 S0 (1,2,-3) dodclo (3,3,-1) Dothspe Hhom HFdod Hocin n
@ o8 800 (21,-2)(-2-3.6).00.2-1) Dochage thom Fédod. HO50y ¢

SaBotn oo r e Sds Foo # @on, 27 sl =

Options :
25
1. -
9
2.8
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Question Number : 59 Question Id : 45093268458 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Tirme : 0

i X3 — 27
myy ——=
T=+3 1.3 b

Options :

ba | L

4

[ 5]

Question Number : 60 Question Id : 45093858460 Display Question Number : Yes Is Question

B G g g o =

.

B —— - -l



Mandatory : No Calculator : None Response Time : NLA Think Time : N.A Minimum Instruction
Time : 0

. _ | 3ax=2Zb, x>1 - N .
i f(x) = LLHLPH. et aud!ujjulmmrx then the relation between o and b is

Jax=2h, 21 .. : o _ -

L) = [ 1 A0 lim Fix) Sedndo @onstond. o o e
/() axthel, x<1 ™ H-Ir ) adfole €0 00 |
sifSs MOnCEa

Options :

3a—-2b=1

2a+3b=1

2a+3b= -1

Question Number : 61 Question Id : 4509386461 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : NLA Think Time : N.A Minimum Instruction
Time: 0

2
The function f(x) = {E—x: 7 s

z

fl) = {7 77 e Hidbao

Options :

P . . - . . . .
Al
E

i“-“m_—-—-- (A B L 1 o &8 R L L R & A 3 L B I N A R L J A &8 & R 2 3% R 1. R L _B QL_Q& A R L L A& 4 R & L L B 4L 4 2 _F_ A& 4 A & R L _ &R _J2_ R Q4 % L & R _R_J2 L .} “-q_-‘
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left discontinuous at x = 3

X =3 20 )00 i) )0

1.+
left contmuous at v = 3
X = 3 0% 2055 29D S0
2. &
right discontimons at x = 5
x =550 50 D3G50
3 W
discontimuous at x = 5
r=2>5 J:h-:':? ;}ﬂ,}nﬁlﬁ
4 B

Question Number : 62 Question Id : 4509386462 Display Question Number ; Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

id°x (dy iy
f v = fx)is athnee difterentiable unction and a bijechon den d_i(r..f_) + i

y=fl) o3Q Srd) sdfosdbiab; Hhoie dbdy Ahe

3 gy
N dyy™ &y _
sospd S (8 4 2
Options :
}r
b

P . . - . . . .
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0
4, v

Question Number : 63 Question Id : 4509386463 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time : 0
i.ﬁ'shf E:I . XA D
Hfix}= . Which of the following 15 true?
[
[Tﬂﬂ'?] (l) , x#0 i
Flx) = ~ s, & 508 78S 08 Haew?
l 0 . x=0
Options :

Flx) 1s continnous and differentiable 1if 0 = o << 1

0 < e < 1 8BANB, F¥) BDDIH0 HOGAD ®IHEOHRELO.

1. &

f(x) is discontinuous and not differentiableif 0 = @ < 1

0 < < 1 WONS, fx) D350 LB eSEecho 5.
?_ -
3.

P -
e
]
L=

T i o - —— - -l

e e



f(x) 15 continnous and differentiable for ¢ = 1

e > 1 ©oNd, f(x) @510 oy esEedoho.

Fix)1s discontinuons and differenniable for @ = 1

& > 1 ©OE, f{x) DOIG10 D00 BSE00ChO.

Question Number : 64 Question Id : 4509386464 Display Question Number ; Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Let f(x) = min {x,x?} for every real number of x. then

15063 P FOWE x B3, F(x) = min {x, ¥?) @owS

Options :

fix) 15 conhimmons for all ©

E:0]) X S5, f(x) &R0

f(x) is differentiable for all x
@] ¥ DeNSEHEY, F(x) 55O

f(x)=2forall x > 1
&0 x > 1 De0n5e80, f'lx)y=2

‘--"-ﬂ--- (A B L 1 o &8 R L L R & A 3 L B I N A R L J A &8 & R 2 3% R 1. R L _B QL_Q& A R L L A& 4 R & L L B 4L 4 2 _F_ A& 4 A & R L _ &R _J2_ R Q4 % L & R _R_J2 L .} ---‘
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Filx) is not differentiable at three values of x

x GB0E), SNTER DeEnaded 3G, Flx) ®S5ORoHo 5%¢H

Question Number : 685 Question Id : 4509386465 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

[fv=(1+a+a*+..)e"™, where o and n are constants, thea the relative eror m v 15

e 0000 & 00 QON0BI) BON y=(1+atelt. )™ SHUB, v & WS
Bl
Options :
eITOr M X
r &S 820
5 K

percentage error in x

X '?55 t'ff-;l |

e
n. {error in x)
n.{x & £5.20)
3.
1. ( Relative errorin x)
. £ 5 .
n.(xeS ar=i &a0)
4

Question Number : 66 Question Id : 4509386466 Display Question Number : Yes Is Question

P . . - . . . .
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Mandatory : No Calculator : None Response Time : NLA Think Time : N.A Minimum Instruction
Time : 0

If the equation of tanzent af (2,3) on v¥ = ax” + b 8 v = dr — 5, then the valne of a? + b =

23 a0y=4r-5 @t v =art +1 CaS), Ejojc{.-._-f'.f.?_a‘- BSOS, 0% + b7 =
Options :

51

58

'_..IJ
s

Question Number : 67 Question Id : 4509386467 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

It Rofles theorem is applcable for the fmction f(y) = v{x 4 3]:.*-1"'2 ot [-3, 0], then the value
of ¢ is

Flo) =x(z+3)e 1t (DalioirRd 3,01 24 08 hoodo sdsfosals, ¢
GR05) a0

Options :

E-----_- & F & T F n F F & Fr §F & §Fr F & Fr 8§ F F & FrF §FrF B F §F N F B F FF N F N T E N B N FF BN EF N B F EF O N N N F N EF B N ¥ F N N N N O -y
3
e

i“-“m_“-—-- LR N & N R _E_J R B _N 8 __E_ L __§E_§R_§B__§B_§ _§L B _§__§B__§EB__§__§R_§~__§B__§B__§_ _§L__§E_§__§B_§E_§__§~L_§~__§B__§B__§B __}§_§_§N__§B__§ _§B __§__§~__§B __§_§B _§R__§E_J};B_§B__§B_ & J§ §E B _§~_ §’R_J§8__§_] “-q_-‘

e e



3 and — 2
2 200 -2
2. =
-2
3, ¥
., C
4, ®

Question Number : 68 Question Id : 4509386468 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

For all x € [0,2024] assume that £{x) is differentiable. £(0) = <2 and f'{x) 2 5. Then the
keast possible value of f(2024) 15
[0,2024] &'« T, B2 Denands, f(x) Bs8oobe, fio) = -2.500n

(1) 2 580 @S0 @30 f(2024) 50 226 100DE Saig) el
Options :

10.120

10,118
-

!"-.l

10,122

2024

P . . - . . . .
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Question Number : 89 Question Id : 4509386469 Display Question Number : Yes Is Question
Mandatory ;: No Calculator : None Response Time : N.A Think Time ;: N.A Minimum Instruction
Time : 0

" 2x% cos{x?) — zin(x%)

dx =
] x>
Options :
sin{x?)
—t
'-l."z
1. #
cos(x?)
— 4
X
2. =

sin(x¥*) + ¢

sin{x?)
— e

_.I:'\..
L1

Question Number : 70 Question Id : 45093286470 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

B —— - -l



Ie.ng.'r ]
¥

_fullcw{ ) Ftan Y R(x)) + ¢, then A(x) [f[.\_l | f(;}l} =
r|'r'l__[h f*x}lu:lgl[ )+Lm'LI:Jahﬂ + ¢, BI00 .'il'.ﬂIf'HHf( ]]
Options :

hix)g(—x)

o

I |~

a{x) + g(—x)

glx)h{x)

Question Number : 71 Question Id : 4509386471 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

Let Jl-'{.\-} - J- s _I__; ....... . lffi'gj g[ ] ﬂlﬂ'ﬂ.ftl:l]

e 1 ai+3)
[1] = ] m!ﬂ ﬁﬁlé OTT s, fﬁ:‘ -_I-UE( }E"-"":'E .ﬂﬂ} =

Options :

1 1
7lo8(3)

P . . - . . . .
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0
i ™
1 1
748(3)
3.
]ng(;)
.-1.. e

Question Number : 72 Question Id : 4509326472 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time : 0

[ 2 cos 2x J
J (1 4sin2x)(1+ cosZx)

Options :

Ztanx + log(l +tanx) +¢

tanxy — Zlog{l +tanx) + ¢

. "

2log(l+tanx)+tanx+ ¢
3. -

2logll+tanx) —tanx + ¢
4.+
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Question Number : 73 Question Id : 4509386473 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time :

J [.1 COSX —S8InX

0

X )Ed'k -

Options :

X COSeC .

. +cotx 4+ ¢
Icosxy SN

VoOgel X
——— L+
XCOSX — sl X
X cosec.x
; +cotx+r
X COSX + 81N X
5
— Catx <+ C

X COS X 111 X%

Question Number : 74 Question Id : 4509386474 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : NLA Think Time : N.A Minimum Instruction

Time :

- S

0

T T FE T T T TE T |

R R

- B S .
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[

1f lim [(1+5) (1+2) (143) . (14 5)] = ae® thena b=

=0 T

L

lim [(1 b (14 3)(145) (14 ”—]]_= ae® @onS, a + b =

==gn
Options :
x—2
1. =
m
2. =
w4+ d
S e
w
2
4.+

Question Number : 75 Question Id : 45093288475 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : NLA Think Time : N.A Minimum Instruction
Time: 0

*

4

T sin*x cos®x dx =

Options :

3Im?
512

i“_-m”—-—_-_- (A B L 1 o &8 R L L R & A 3 L B I N A R L J A &8 & R 2 3% R 1. R L _B QL_Q& A R L L A& 4 R & L L B 4L 4 2 _F_ A& 4 A & R L _ &R _J2_ R Q4 % L & R _R_J2 L .} -"q_-‘



256

Question Number : 76 Question Id : 4509386476 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : NLA Think Time : N.A Minimum Instruction

Time: 0

--JT_Il
If JTn = _'ﬂ'+rﬁFFﬂ1' dx, then flg + jrll =

g
L= [ “ran™y dy @00S, [3 + Iy =

<[
Options :
1
13
1, =
1
12
raR 4
1
10

TR T F R T EYTR YRR Y OET ORCOYCORCR R WO

.
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Question Number : 77 Question Id : 4509386477 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time : 0

The srea (1 sq. uns) of the smaller repon lymg above the X-axis and bounded berween the
circle  ¥* +1° = 2oz and the parabola vl =iy is

q - o P T L L

4yt =2n d3%0 00 v -m aTdodire ) 0008 snddk

ool Deriod 0B S0 Do Aoy FTego (Hdd AR ALY

a(Z-1
4 3

Question Number : 78 Question Id : 4509386478 Display Question Number : Yes Is Question

P . . - . . . .
i
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Mandatory : No Calculator : None Response Time : NLA Think Time : N.A Minimum Instruction
Time : 0

The difference of the ovder and degree of the ditferential equation

&G -E G
T gt =51

(ﬁ'] (ﬂ] [:ﬂg :} l\ri‘ ) 0 FI"“—' LI fw.:-.'.lgl,f" ) Cﬁ.ﬁﬁ] oA e

| g dil dy? dx

=11 =5

l:'l' ‘Iq.]-\.h\ “E-r'""':ﬁxg.-_r u.l-dl.':l-ﬁa.l

Options :
5
..
A
2=
-4
2
4.

Question Number : 79 Question Id : 4509386479 Display Question Number : Yes Is Question
Mandatury Mo Caleuwlator : Nona Raspunse Time : N.A Think Time : N.A Minimum Instruction
Time: 0

If xdy + (v + v?x)dx =0and v = 1 at x = 1. then
xdv + (¥ + yIx)dr = 008050 v = 158 v =1, eaonS:

Options :
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X
- 1+logx
I ru
1 +logx
V=
X
2 -
yv=x(1+logx)
3. e
1
y = :
" x(1+logx)
4, &

Question Number : 80 Question Id : 4509326480 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Respanse Time : N.A Think Time : N.A Minimum Instruction

Time: 0

The solution of x dy — ydx =+ + y*drvwhen v (vV3) = 1is

¥ (V3) =1 @00y 00 x dy — y dr = 12 4 y? dx, OF05) FPOHS
Options :

¥+ x? vy =x?

5y — k2 + 3% = x*

o
E
i“-“m_—-—-- (A B L 1 o &8 R L L R & A 3 L B I N A R L J A &8 & R 2 3% R 1. R L _B QL_Q& A R L L A& 4 R & L L B 4L 4 2 _F_ A& 4 A & R L _ &R _J2_ R Q4 % L & R _R_J2 L .} “-q_-‘
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q. .
Physics

Section Id : 450938139
Section Number : 2
Mandatory or Optional : Mandatory
Number of Questions : 40

Section Marks : 40

Enable Mark as Answered Mark for Review and

Clear Response : e
Maximum Instruction Time : (B
I= Section Default? : null

Question Number : 81 Question Id : 4509386481 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The percentage error in the measurement of mass and velocity are 3% and 4% respectively. The

peroentage crvor 1 the measurement of kmehe encrgy 13

28 e T8 18T Toss’ w Aamdo SHah s Bardo

=, b

o, oh resdi sodd Sardo

Dptions :

i“_“m-—-—_-_- (A B L 1 o &8 R L L R & A 3 L B I N A R L J A &8 & R 2 3% R 1. R L _B QL_Q& A R L L A& 4 R & L L B 4L 4 2 _F_ A& 4 A & R L _ &R _J2_ R Q4 % L & R _R_J2 L .} -"q_-‘



11%
1.

12%
2_ e

14%
3. R

B4
g -

Question Number : B2 Question Id : 4509386482 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

A car travellme at 80 kinph can be stopped at a distance of 60 m by applving brakes. 1f the same
car ravels o 160 kmph and the same braking force s apphed. the stopping distance 15

80 kmph fiand' Hasredothid a8 s Ben 30 oom drdod siab90.

ol s 160 kmph Fdod nairdodd, oT 2008 o Fdam s o
drdo
Options :
240 m
1.4
170 m
2. -
360 m
3_ -
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Question Number : 83 Question Id : 45093286483 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : NLA Think Time : N.A Minimum Instruction
Time : 0

A 2 kg ball thrown vertically upward and another 3 kg ball projected with certam angle (5 = 90)

both will have same tome of flght, then the ratio of thew maxmm herglits 15

2,5 2 kg 21058 AN, MDE 3 ke oS o Fro (0 = %) Sir (HEDo

I : . e e
Doy a8 flidseren osrao. mond T 10 Jio Ao
Options :

23 3

Question Number : 84 Question Id : 4509386484 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Respanse Time : NLA Think Time : N.A Minimum Instruction
Time: 0

P . . - . . . .
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In 2 sport event a disc 18 theown such that it reaches is masxmum range of B0 m. the distance
ravelled m first 351 (g = 10ms™)
S S 28 AD) & 80 183 TR A03H4) DA, smd wd &9 3

DESed T8 drdo (g= 10ms™)
Options :

80 m

60 m

72 m

74 m

Question Number ; 85 Question Id : 4509386485 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : NLA Think Time : N.A Minimum Instruction
Time : 0

A block of mass 18.5 kg kept en a smooth honzontal surface 15 pulled by a rope of 3 m length by
a honzouta] force of 40 N appliad to the other end of the rope. If the linear density of the rope 15
0.5 kgm ™ and mutially the block is af rest, the time in which the block moves a distance of 9 m i
2.8 o S0 ndrodd deoD dotadd 185 ke (O 6 28 AFR0H I m
frchsd do mrciito 88, meh ST Bt don S8z Nirodd aoo HEMCD
ereth. @ Bl ro|de 05 kegn™! SBckn Sevd B; Drs DS Ao,
B 9m GRG0 hents S5 S0
Options :

1.

P . . - . . . .
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E
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Question Number : 86 Question Id : 4509386486 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

A block of mass L5kg kept on a rough honzontal surface & given a honzontal velociry of
10 ms™" [f the block comes to vest affer travellng a distance of 12,5 m, the coefficient of kmetic

fmction between the surface and the block 1s (Acceleration due to gravity = 10 ms )

2,8t 5 Mz Srodt deod dodnded 15 kg S0 e 8 835 10 ms™
8tz Adrodd Jmay 216080, 5] 125m drdo Hairdodd dtard
Jod DY T83, Sedl Sbch Al Do 188 Lo hek

(iied g

3~

2080 = 10 ms™)

Options :

0.2

—_

0.4
2.+

P . . - . . . .
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Question Number : B7 Question Id : 4509386487 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : NLA Think Time : N.A Minimum Instruction

Time : 0
A force of (61" — 4 + 3) W acts on a body of mass 0.75 ke pod displaces it from v = 2m to
v =51 The work done by the force 15
0.75 kg [a53 09 M 5503 B (627 — 41 + 3) N0 ST 5ol ¥ = 2mabiod

- T I e — T T —— & . 1 TSR
t = 5m 5 &FR2080 ToQOTAD, 00 ase B0 a0
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229 |
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Question Number : 88 Question Id : 4509386488 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time : 0
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A ball falls freely from rest on to a hard henzostal floor and repeatedly bounces. If the velocify of
the ball just before the first bonnes 15 Tms ™ and the coefficient of restitation 1s 0,75, the total

distance travelled by the ball before it comes to rest is (acceleration due to gravity=10 ms™)
28208 D0 58 08 DS G 18 §Ba Siross duo 46 e
el et 98 b B, 208 Tode ard derdy =3 § oo duock i So
Tms™ shfioln REreaar o 075 woud, 8 Ho8 Do D § SH8H008,

&8 molrno Thd Jndo drdo (hthe s &3000=10ms™)
Options :

10.75 m
1. &

975 m

8.75 m
7. ¥

11.75 m
4 n

Question Number : B9 Question Id : 4509386489 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : NLA Think Time : N.A Minimum Instruction
Time : 0

A sohid eyhinder rolls down an inchined plane without slpping. Tf the wanslational kinetic sneray of
the cylinder 1z 140 1. the total kinstic energy of the cylindar 15

2.8 ahed s00 28 Ten 800 B2 iRom Sdiiha) 8. oo Tus) Jrerosls
rieeed 3 140 e Ao Glug) Sudo fezds
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Question Number : 90 Question Id : 4509386490 Display Question Number : Yes Is Question
Mandatory : No Calculator : Nene Response Time : N.A Think Time : N.A Minimum Instruction
Time : 0

frictiontess palley. If the systatn of blocks is relensed from rest. the spead of the centre of mass of
the svstem of roo blocks after n tme of 5.4 51
(Acceleration due to gravity = 10 ms~)
Germhen m 00 2m Ao Bodh Bded Sde B2 D ) Dam
Sy 2.8 BO5S rrdod L0t Ao 80 S Da Hod S80S,
§43 500 ST BTe S50 Tl (05077 S0 A6
(fhdiaed ¢ éb2ieg0 =10m )

Options :

6 ms™

1.9

8 ms™
2.5
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Question Number : 91 Question Id : 4509386491 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : NLA Think Time : N.A Minimum Instruction

Time : 0
The displacement of a pamcls execunng sunple hamionse motion = y = Asin{3t + $) m, where t
ts tume 10 second and ¢ 15 phase angle. At tnne 1= 0, the displacemsent and velocity of the partcle
are 2 mand 4 ms™. The phase angle. ¢ =
S0 arrme )8 dedo o) a8 8mo ASB0d0 y= Asin(20+ ¢) m. G861

)

= . . ]
g0 Riothd dfal ¢ de¥mo. soo =054 $oo Fddiodo ook Fo

SEAM 2 m ol 4 ms™! 57 5200, 4 =
Options :
60~
30°

45°

a0°
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Question Number : 92 Question Id : 4509386492 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : NLA Think Time : N.A Minimum Instruction

Time: 0
The dlspi:ac-euxm of a damped oscillator 15 x(t) = exp (—.2t)oos (3.2t + {1} where t 15 fune m

e . : .
second. The nme requured for the amplitude of the osallator fo becoms 73 futes iy sl

2.8 @S foso Ty PZiodo x(t) = exp (-02t)eos (32¢ 4 ), B84 1 POO

= 'H.-. -E i - o i B " - L "y g -4 l L 5,
P0G, GOS0 5000 ol TW 82 50aq 20ues — B Bihi
g

Question Number : 93 Question Id : 4509386493 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
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Maocmusn height reached by a rocket fired with a speed equal to 508 of the escape speed from the
surface of the earth 15 (R - Radius of the earth)

72 GBSO oA Merhd SAS 505 S8 Dardod SA8 28 o8 &
D08, 80 T0 0 b (R- Zrarrdo)

Options :
H
2

1. 8

16R

3.

o | =

Question Number : 94 Question Id : 4509386494 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : NLA Think Time : N.A Minimum Instruction
Time : 0

IF thee work done i stretchig a wire by L mmis 2 |, the work necessary for stretching apother wire

of same matenial but with dovble rachus of cross section snd half the length by 1mm &

28 810 Lam MO ciAS” 20RS a9 2) wouB 080 DTG FErdaw

S8y o G DA, e Hrdo s Bobadd B8 88D 1 mm AACES

SCEIRS
Options :
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Question Number : 95 Question Id : 4509386495 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time : 0

If5;. 5; and 5; are the rensions ar liquid-aw. solidean and solid-ligud interfaces raspectively. and
& 15 the angle of contact a1 the sold-liqued wrerlace, then

;. 5 anfich 55 S (dbo-me), Siderdome) SHfidh Hdderdoiao
Gonils Bere) 30 GOR daiden, RO Mwsamdocido Gl S0 ¢

280 ¢ wond

Options :

5, cos0 + 5, sinf = 55

Sycosf +5; =5,

et
4
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S.cos@ +5; =5

E

Sycos8 45, =5;
4l.ii.

Question Number : 96 Question Id : 4509386496 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : NLA Think Time : N.A Minimum Instruction
Time: 0

It ambent temperatare 15 300 K, the rate of coolng at 600 K 15 H. In the sane snronndings, the
rate of coolug at 900 K 15
SEATe SN 300 K SeSuch, 600K 52 380560 Ben . o Hdnred

900 K 3¢ Jebo)8 e Bew

Options :

3H

| 3
b

Question Number : 97 Question Id : 4509386497 Display Question Number : Yes Is Question
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Mandatory : No Calculator : None Response Time : NLA Think Time : N.A Minimum Instruction
Time: 0

An sdeal heat engine operates i Camot evcle between 127 °C and 27 °C. Tt absorhs 5 x 10% cal of
heat at hagher temperature. Amount of heat converted to work is

) =5 ) - ) "'E oo m A
2.8 o050y rchHono 127°C Bk 270 & 2id; 0 HEod Hadpod. ad

008 G116 30 5 % 104 cal G398 (EPN00. BB HUT 70 GYI0SrE0
Options :

48 % 10% cal
2.4 % 10% cal

1.25 % 10* cal

6 x 10* cal

Question Number : 98 Question Id : 4509336498 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : NLA Think Time : N.A Minimum Instruction
Time: 0

; Figt, i . . , 4 .
One mole of & gas having ¥ = -5~1::. mixed with one mole of a gas having ¥ = T The valee of ¥

ot the muwtae is (y 15 the ratio of the specific Lieats of the gas)

g

y == &80 aﬁﬁr*ﬁaﬁmgﬂr—-ﬁ A28 3rd polngd 0, wond

e o=

& iAo o) ¥ Dend (y - ol Desfare Jand)
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Question Number : 99 Question Id : 4509386492 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

A Camo? heat engme has an effsciency of 10 %, If the same engme 15 worked backward to obta

arefrigerator, then the coefficienr of performance of the refrigerator 5

28 98 &aaboso 10% S8éd 00 s0b. s o) dhodod, Y808k

$ T, Jeostn dhodo Sng, Sdirtom hado

L

SOOI Sl
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Question Number : 100 Question 1d : 4509386500 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : NLA Think Time : N.A Minimum Instruction

Time : 0

The mmas velonity of 2 gas molecule of mass ‘m’at a grven remperanize 15 proportional fo

.-_,;_.l"l:l

WV, T T PR C o gaona e T3 e gl =,
6 i fied 90w (Cahiord e arcinesaos) Glosy s ¥aw 1500 atld TRd
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; o
Eendamiarand dotnob
Options :
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Question Number : 101 Question Id : 4509386501 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0
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The speed of a wave on a siring ts 150 ms ™" when the tension 15 120 N. The percentage merease

i the tensiom m order to rase the wave speed by 20%
Saifed 120N He éDL&@L Ginuddod S0 150 ms™, S0 Sdof O 20%
20T00H, So8E Ho ddidd Dotiobhd Pédy

Options :

44
1.

40

22

20

Question Number : 102 Question Id : 4509386502 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Respanse Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The minimmm deviation produced by a bollow peism filled with a certain liquid is found to be 30°
The lght ray is also found o be refracted at an angle of 307, Then the refractive index of the hqud
15

en sbeny 28 0808 Sohsch, 0§92 e Fo 30, sod 3 Sood
4883050 Tond, & |30 T 5% heto
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Question Number : 103 Question Id : 4509386503 Display Question Number ; Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

In Young's double chit experument. the mensiry af 2 pownt where the pata dufference 1 :—J beitiz
the wavelength of the hgly veed) w 1 1f 1 denotes the maximmy 1nfensiry. ! f'II 15 eqqual 1o

o
dhofi o udy arfod, - 2 haEe Doy &5 eS|

(1- @il sos Gl 0ol BUs0). & hia |I'ﬁ&;l~'5_'§~ 28] ¢ JT"m' I'.J' =
1
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Question Number : 104 Question Id : 4509386504 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
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: Two particles of eqpial meass ‘m'’ and equal charge 'q are separated by a distance of 160m. They do
I . ot ; .

! not expensence any force. The value of E 15 (1 "G 18 the vooversal gravitational constant
I . .

: and ‘g’ 15 the acceleration due to graviy).
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Question Number : 105 Question 1d : 4509386505 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : NLA Think Time : N.A Minimum Instruction
Time : 0

Tn the following diagram, the work done tn moviag a pont charge from pomt P to point A B and
C are W), Wy and W respectively, Then

(A, B, C are pomts on semicircle and pomn charge q is at the centre of semicircle)

w8 foch smd) H0os ety p Hodd Sof A, B Hoa ¢ Do
S5 enSmatos 28T o St w,, Wy aBoh W, e (A B.C &0 &

3980 2 Dochien Dl ef Saso A Dofd 30 Hod eddo q il d)

Wy =< Wy < W,
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Question Number : 106 Question Id : 4509386506 Display Question Number : Yes Is Question
Mandatory ;: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time : 0

Four condensers aach of capactiance 8 pF are jomed as shewn wn the figure. The squivalent

capacitancs berwesn the pounis A & B wall be

535,88 8 F A, Mo Arenl Srhtd Sbod Srhs Mdom Sogrso

Tabaaderon. A Sl B Dothde S0 e TrhLA ] mos?

A
L

A —‘—‘T} :
. B

Options :
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Question Number : 107 Question 1d : 4509386507 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : NLA Think Time : N.A Minimum Instruction
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The resistance between points A and C i the given network 15

Bocs 2038 Heo S Tersh) & A HBch Dot e G
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Question Number : 108 Question 1d : 4509386508 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time : 0
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A steady current 15 flowing m & metalbe conductor of non-waitorm ¢ross section. The physial
quaninty whach remams constant 15
et edtho Irop Mo 28 Sy wrde & dold ddyé

aaareldy B, atiom &0 TRt ol

Electricity current density

DS |DaTaT FrO|C5eh
t. -
Duift velocity
L@E:I Fafale)
. =
Electneity current density and dnift velocity
DD DT oG SHoaky 1B Fio
3. 8 =
Electric current
DENES [Tl O
4.+

Question Number : 109 Question Id : 4509386509 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0
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Awire shaped w2 regular hexagon of sade I cm cames a carrent of 4 A The magnenic feld at the
ventre of hexagon 1.
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Question Number : 110 Question I1d : 4509386510 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : NLA Think Time : N.A Minimum Instruction

Time : 0
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A tightly wound cosl of 200 tums and of radius 20 cm carrying ctuvent 5 A, Magnenc field at the
cenire of the coul 15
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Options :
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628 x 1074 T

628 1073 T

Question Number : 111 Question Id : 4509386511 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time : 0

The domain in ferromagnetic matenal 13 in the form of a cube of side 2 pm. Number of atoms

that domamn is 9% 0% and each atow bas a dipele movement of 9% 107 Am®, The

magnetisanon of the domain is {appeoximarely),

2.8 JBmobar,08 Al 8300 & 2um Mz0 rddie Sl ad G b, &
B0 & 9x 10" Harenden 25358 9x 10 an? B SbTR) ©

&0, ABu0m Artianah; FR sahar] 08880 (Merdm)
Dptions :

1. ¥

P . . - . . . .
‘- LR & b L _ A & & QL 2 3. 8 L A L R L 4 4 R L % 4 2 4§ L % & & AL R 1 R R __& 4 R % QL R 2 B8 @ % RL_& R_QL J1 R _R_ & A 8 2 L 2 R 3 L L 41 4 R BN 2 L Jj --------‘

K R 3 R K K I 2 2 3§ _E_ 2 & I _F_2 2§ 2 =% R _» 2 =~ 4 R & X E Lt 4 I R B _J2 L 2 E X N _E__L 3 31 8 L o 32§ F_R_§ L L L § J



10 % 10* Am~?

8 x 10* Am™?

e
2% 10 Am™!

3_ F
9 x 10* Am™1

4 M

Question Number : 112 Question Id : 4509386512 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : NLA Think Time : N.A Minimum Instruction
Time : 0

Magnetic field at 2 distance of ¢ from 2 axis is B = B, ot present in the region. 'By’ is constant and
1 15 time, The magmmde of mdnced electric field at a distance of r from z-ax1s 8.

25 l;ﬁ'ézﬂrﬁ' 1880 H0d 1 ArTod BoLT) 08 S |50 B = Byrth S 6. 360
'8, worofo Aibdin ¥ 0. eon® 2 @ o Hod drtod 2o DS S8
IGITED.
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Question Number : 113 Question Id : 4509386513 Display Question Number : Yes Is Question
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A sertes LOR circnnt 15 shown i the fizure. Where the inductance of 10 H. capacitance 40 oF and

resistancs 50 0 arg connecled 10 a vanable frequency 240 V source. The cumrent af resonating

frequency 1s

28 LOR (36) dodho H80d tirandod. A6 10H D50, 404 § 09D Subckn

60 @ BSoed 2.8 240 v 56 Flandn 2dedE sosahdn. ao® admd

D
Il
4]
L]

i"f"u"‘l"
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Question Number : 114 Question 1d : 4509386514 Display Question Mumber : Yes Is Question

Mandatory : No Calculator : None Response Time : NLA Think Time : N.A Minimum Instruction
Time : 0

An electromagnetic wave mavel in o medinm with a speed of 2 % 10%ms™ The relative
H

perneabuibary of the meduni 15 |. Thea the relative pemuttivary 13

eS8 olrdisod Dstabaryos Sdofo 2 x 10°ms™ 558 | Boirsyod), & dinds

T U S o o5 - |
RS (e PO 1, 8o e cirds s RN
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The longest wavelength of light that can imtiate photo electnic effect i the metal of work fimction

HeV s
P 5 APENIC TR g = - . T
39 (Saiahio 9 ev fie Sired os 28 20mR Srhodohs aditR

(6} ébdiod B0

Options :

137 X 10 "m
1.9

1L.5% 107 "m

3.7%x10 'm

4% 10 " m
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Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

A hvdrogen atom falls from o Iigher energy orbit o first energy orbit (n = 1). The enerzy

released is equal to 12.75 ev. The o™ orbit s

TOES Hfarenag o 48 arow &8 od Tude 48 ron 881 m=1) H

SO onNE. 26 fahd 1275er 0 48 Do BRI nh 88 ;
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n=23
2. %

n==~o
3_H

n==5
d_H

Question Number : 117 Question 1d : 4509386517 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : NLA Think Time : N.A Minimum Instruction
Time: 0

The decrzase 1 each day i the Uratnum mass of the matenal w o Uraninm reactor operating

at & power of 12 MW is (Energy released in ane 5, 1) ** fission is abowt 200 MeV)

12 MW 0 adeod 99 Dlndnsy 8 cluddabo Sairgh & s adndndho

& A7 14507 e (U *5 108 Todd #8 dde sdhyh corsym

200MaV)

Options :

12.64 x 10 % kg

1. &
1150 x 1072 g
|
12.64 kg
3, =
12.64¢g
4.v
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Question Number : 118 Question Id : 4509386518 Display Question Number : Yes Is Question
Mandatory ;: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time : 0

Whea a signal 15 apphed to the tput of 2 transisior o was found that ontput signal 15 phase- shufed
by 160°, The transistor configumtion 15

2§ HoSed) (trRed AG ehdido T = Soddo 1rR)eb
Sdsdn TGS doldo defded 1800 drd Todd. a8 1LeR96

” i
el ] Adadld

Options :

CB — configuration

CB — s)rlirdonl)

1. =
CE — configuration
CE — 2)a0"frdond
2.
CC — configuration
CC — Dageeadasm
36
Both CB and CC = configuration
. CB:ocivce Dareddnerds
4,
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The voltage ¥, in the network shown 15

5808 Srhd Soahod SEA 1

S

Options :

Vo=113V
}. ¥

V, =08V
2 =

Vo =120V
a.

V,=0.7V
4 #
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A message signal of 3 kHz 15 used to modulate a camer signal frequency 1 MHz using amplimde
modulation. The upper side band frequency aud band width respectively are
3kHz® Fdegasolie HoTH HoSom, 1 MEz S dayiolie 7irs dosodlns

EL Y

S0l HOME JreiBS Tabadod, b e 56 frded s Sifdhn 54
SEED) DN DT
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Question Number : 121 Question 1d : 4509386521 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Inv the mound state of hydrogen atony, electron absarbs 1.5 times enerzy than the wammum energy
(218 «10718 J) to escape from the atom. The wavelength of the emitted electron (m m) s (m, =

9% 107 kg)

H,

P VT T e T T b Sl
APl de) H 0Pl D05, ofalide) Abod HCHLS e

- [,

SN SR 48 (218 <207 1) S0 15 DAY 487 |RF0Q08. Jonidd 05D

[E

oo m oS (m, =9% 10 k)

Options :
h x10°*
_— v 1.962
I
] :.: lﬂI]
- w V1962
h
¥ .].U'IE
v1.962
3.8
il
x 1022
v1.962
"-1-. s
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A golf ball of mass ‘m’ g has a speed of S0 m ™. I the speed can be measured within accuracy of
2%, the uncertamty m the positson 1s
w'g © (35507 e 15 208 3o 50 ! oA I 2% Sde ToNONSRE.
R A0 8 1 et sl 0

Options :

h

dmm

h
16mm

h

3
16mm %30

Question Number : 123 Question 1d : 4509386523 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

If the first somsation anthalpy of L. Be and C respestively are 520, 899, 1086 kJ mol™, the first
jonisatio enthalpy (in kJ mol®) of B will be
L1, Be a0l € & (S0 E-ﬂi})EEuE J-Da‘r:{}; &) o)edT 520, 899, 1086 kT mol™
eon®, B dd eTIEAS Jomrd. & wel! ©F |
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Question Number : 124 Question Id : 4509386524 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

In which of the following sets of molecules, the central atoms of molecules have same

bivhrdisation”

B0 ®enage atdeds End smge S0(L58 Dlartaagen 2.3 Hos080e0m

K-t o

Iﬁ-'.'l
e Llnd” ) LA

Options :

NH3, ClFE3

H20. 803

SFs CH4

XeFs. IF7
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Question Number : 125 Question 1d : 4509386525 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Tha corract incrancing order of mumber of lone pair of elactrons on the central atown of SuCly. NeF,
CIFyand 803 s
SCly, XeFa, CIFs 00050 803 &80 o8 Hbdrend Ned &) 200l =ob

D0 T & H0E 2T B (Saldainy
—_

Options :

S01 < ClF3< SnClzx = XeF2

'I -

5035 < SaClz < ClF3 < XeF3
2.

XeFr < Sullh <= ClF: < S0O;
3_ -

XNeF: = ClF3= SuCl = S0;
3. =
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Iderify the cormect statements from the followmg
1. Forandeal gas. the compressibiliry facter 15 1.0
I Thekinetic energy of NO (g} (molar mass = 30 g mol™) at T} x [ mol™. The kinetic
energy of NaOy (g (melar mass = 92 g mel™) a1 T(K) 15 2x | mol™
[ The mate of diffuseon of a gns 15 mversely proporhional to square root of its deasity
Bod 286 563 i oo
[ ) ol donde e 10
I TE) GG NO @ (ArerD aptio= 30 gmel ™) Gus) (62 45 x Jmol ™, TIK) 50
NeO {g) (Srerh 280=92 pmol ™) ek 45 24  mol

o ; ; Lol [
M 28 o i @ Jodd Jdrend dSrdrscs

GO0k

Options :

I 11 I
1. =

[L. III only

IL, I S50 €b ok
2. % >

L. IIT only

L 10T 2537 éh ol
3,

I. I ouly

I I 55| 6525
4, ®
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The following graph is obtained for 4 gas at different temperatues {T), Ty, T3) What is the correct
ordzr of temperatnre? (x-axts = velocity. y-axis = number of moleculzs)
&8 Tougd Jad S0 (M, To T3) 40 5obd mh vdodod. Gifide

BT [Bein JOT (o8 0 =310, 15 0 =@Ebaye) S0
¥
I

I

T

> 1
Options:
=T >T;
1. v
Ta>=Ty>Th
2_ -

Ti=Ti1>Ts

T3=Ti1>Ti
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Time: 0
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Observe the following stoichuometric equation
Pj+30H + 3H:O — PH3+ 31

What 15 the conjugate acid of x™ 7

1808 oS T3 Haniderd) H8TD0SD
Py+ 3 OH + 3H:0 — PH3+ 3%
¥ QRS DO &0 &2

Options :

Phosphorous acid

ara 0 eseo

"'I' ! -
Hypophosphorous acid
?:.J‘ET:F‘;J_}@EJ l?;'il-:-“rl_)D
v : «
Phosphoric acid
oo 68 esdop
.3. -
Pyrophosphoric acid
2008 escho
q. =
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Criven below are roro staterients

Statemenl - I For isothermal meversible change of an ideal gas. § = -w = Foye(Vena — Vinitiar)
Statement - [I: For adiabaric change, AU = Wogianatic

The correst answer 15

15023 DO SFEieD He) jREF0D

T Epl: 28 et ) araineg SR eede b Srid 8.

N="W%E Fu?'[an_-zn' ~ Pirsitvat)

TRl DR AP0, AT = W bati

SO Hekrerdsin
Options :

Both Statement-=I and statement-I1 are correct

J°fws-1 00080 arpmi-1 Do 800N

1. %
Both Statemeni-I and statement-II are not correct
e ar 52051 B0l s s-Il Dok OO0 5%y
Statement-I is correct but statement-1II 1s not correct
o e -1 QO 55 ar §20 -1 DO S
4 B
Statement-I 15 not correct but statement-II 15 correct
-1 A0S0 5D SR F -1 ORI
g =
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A thermodynamic process (B = E)was completed as shown below. The work done 15 equal to area
under the lmts

. diiedd (51500 B - B (Bod ddhor S8 eonod. 200 57 2 mulidhe

ATerss Aalrian?

_— e ———

|
3
=

Options :

A—3 B—> E—>F

T -
1. =
H— B — E—d) —¥%)
i |
7. R
B—> C —3» D—3>E
y I
3.
B—>G—>E
4. % T
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K, for the following reaction i 93 0

TIK)
Aglg) ==Bil2)

I & one hire Bask 2 moles of Az was beated to TIK) and the above aquilibrnm s reached, The
concentrations af equbibnnm of A7 and B are C1{Az) and C3{B2) respectrvely. Now., one mole of
Ar was added to flask and heated 1o TIK) to establish the equilibrinm agam. The concentrations of
Axand B are CalA) and C4(B2) respectively. What is the valve of C3(A7) inmol L™

1508 D550 K sleal 990

TiK}
Aglp) == Bilg)

4006 TS 2 8 0 &S TK) S05 3632 3 ALehen Fomd.
AebErnia SO & 005 By mdsen SHNM O DO CaiBa). Ty 28
T 4 2SS 9 856 TR S8 34 Tabr 3 AHeEdE ododad.,
Sk elEes S0 Az sh0cn By o mrobden S Cuds) ~o8cin CyBa)
CifAzh Syewch mol Lo Mok
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1.98

9

=
H
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Time : 0
What 1s the comjugate base of chlonc acid?

§'68 mc0 Glndy Tozrhd STto N2
Options :

clo;

Question Number : 133 Question Id : 4509386533 Display Question Mumber : Yes Is Question
Mandatory : No Calculator : None Response Time : NLA Think Time : N.A Minimum Instruction
Time : 0

The correct statements among the following are

1 Saline hydndes produce Hy gas when reacted with water

. Presently ~77% of the mdustnal dibvdrogen 15 produced fom coal

w  Commercially marketed HaOh contams 3% Hi0s
1808 836 SO TR

L BN TER 0 S ) Tofidad Hraohnganron

i (S0 80 o~ POt B B e o Sairdh T
i PrrodEor sl S ol K0, 3% 0 & 50 ohootnod
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1. 11 only

i, i 2T €50

1. 11 only

" W off =gl
11, 111 T 22l

3. =

1. 11 only

o il ST

Question Number : 134 Question Id : 4509386534 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time : 0

The correct order of decomposition temperature of MgCO5 (X), BaCOs (Y. CaCOy(Z) 15
MgC0s (X). BaC0a (V). CaC03 (Z) © abaidach &35 fedhey OGRS | Sabaaiy

Options :

Y>E>X

F =

Y>X>Z
3. %

X>Z>Y
4 =B

P . . - . . . .
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Question Number : 135 Question Id : 4509386535 Display Question Number : Yes Is Question
Mandatory ;: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time : 0

Idenufy the correct statements

1 Omdation of NaBHy with I gives B:Hs

. BoHgburns i oxygen and releases an enomous amonnt of energy

mi.  B2He on hydrolysis gives a tnbasic acid

AORS 7 pseach hlodod

i, IS NaBH: &8 8560 BiHs Dt 16h

i, BHedad & ok el S88r0od dara) S TRod
i, BaHe 20 D30000 Tod | BFE esaTn) o

Options :

1. 111 only

1. il uﬁjﬂ éﬁ’ﬁ’k)
- =
1. 1 only
i, il S Th
3.
11, 11 only
i, il ca7¥ €0
4 8 '

Question Number : 136 Question Id : 4509386536 Display Question Number : Yes Is Question
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Mandatory : No Calculator : None Response Time : NLA Think Time : N.A Minimum Instruction
Time : 0

Which one of the following 1s vsed as piezoelectric matenal?

o8 635 B2 HE DS HrFEdom Foerh?
Options :

tridyte

1E3GT0ES
'|__ -~

qnan‘z

By %

g Tad

zelohite

2O3rTE
3_ 2

) e |

5"
4_ =

Question Number : 137 Question 1d : 4509386537 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : NLA Think Time : N.A Minimum Instruction
Time: 0
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Two statements are given below
I Indrycleamng, the solvent ClhC = CClywas earber nsed and now 1t 1s replaced by Liquefiad
oy

1 Inbleachng of paper. Ha0: was used earher and now 1f 15 replaced by chlonme gas
Comect answer 15
150t Bodh < gien B Do
L o 58 dabd. spbo o = ook & [Tidr sadrfodat 50
e A achen 183 S0 9 00 & cbeiryh

I sheod dfo Tobdod, oo B0 & ehoiriodat 579 0
A2 uchen £85 rolugdh sddam &
nBl s
Options :
Statements I, IT both are correct
L TIREENLI Sodh HB8QID
Statements 1. I both are incorrect
, e Ll Dot 2000 5%
-5
Statement I is comrect but statement 1 1s incorrect
- 5208 T OBGHNE 50 o i T ASDGE 5D
Statement I 15 mecorrect bur starement [T 15 correct
s T AOQHAD 3¢ 57 s T A0DAE
4, ®

Question Number : 138 Question I1d : 4509386538 Display Question Number : Yes Is Question

P . . - . . . .
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Mandatory : No Calculator : None Response Time : NLA Think Time : N.A Minimum Instruction
Time : 0

Tropolone 15 an example for which of the following class of compounds?
808 o S 6508 (Fade a8 arrrden?

Options :

Benzenoid aromatic compound

BoBoronG 85835 HaFso

Non-Benzenowd aromatic compound

- BoBTond OB are3s S Yso

Ahcylic compound

287088 Sah;¥No

Heterocyclic aromatic compound
Pe30 EE 08Sreds S w0

Question Number : 139 Question 1d : 4509386539 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : NLA Think Time : N.A Minimum Instruction

Time: 0

P . . - . . . .
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What are X and Y respectively i the following reaction sequence?

KMo, dehydration
Isopentane -~ X = Y

Major

1Bod fﬁl:?;g_ﬂ.ﬁ_w::fﬁ-i X 20000 ¥ €33 SGT D07

EMa0, balat Lol
SF OIS - X ? - ¥

|3

Options :

CH

Question Number : 140 Question I1d : 4509386540 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : NLA Think Time : N.A Minimum Instruction

E-----_- - O O O O S O O S D S O . -y
i
I
X
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Time : 0
Some substances are given balow
Ag: COp(s) 5102 Zu8
SO0 (s): AN; HCHs): HaD (5
The oumber of molecular solids and network solids n the above list 15 respectively
i) ooTen 5ol 2.0 0700
Ag: COn (s} S10y Zn8
SO {s): AN, HCl sy HaD (s)

2D S iy @ Sl AT B0k Ee o HTTE A0 SONT
Options :

3,3

1, =

Question Number : 141 Question 1d : 4509386541 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The ATy value for 0.01 m KCl solution 15 0.01 K. What 15 the Van't Hoff factor”
(K for water = 0.42 K ke mol ™)
0.01 m KCI{[PSEF 08 ATy e 0.01 K arod 55 (hedhn Job?

(3 Ky =0.52 K kg mol™Y)

P . . - . . . .
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0.96

0.86

Question Number : 142 Question 1d : 4509386542 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time : 0

200 g of 20% wiw nrea solution 1& mived with 400 g of 40% wiw nrea soluron. What is the weight
percentage (wiw %) of resphant sohmion?
200 g €3 20% wiw ORPOCr | TPSEPRL. 400 g © 40% wiw clarOcie | ordernS SOanth.

a""‘ﬂﬁ-i’:‘ W) ET0 TE0 (wiw %) 0T
Options :

0.

-
e |

Lid
T

o

P . . - . . . .
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Question Number : 143 Question Id : 4509386543 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

2 644 2 of metal (M) was deposited when 8040 coulombs of electncity was passed through molien

MF: salt. What s fhe stomic mass of M” (F = 96500 C mol™)

i B o ' g ! P o F, bl
B40 P00 & DS fiod MR 360 home ooy 264 g ) S dFo

(M) 35 ol et M G005 30aPe | e300 o0& (F = 96500 C mol™)
Options :
6347 u

1.9

65.54 1

B

3174w

61.48 u

Question Number : 144 Question Id : 4509386544 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
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The first arder reaction Ajg — Byg + 20jg occwrs ar 15 °C. After 24 mumartes the ratio of the
concentration of products o the concentration of the reactant 15 1:3. What 15 the half hfe of the
reaction (i mon)” (fog 1.11 = 0.045)

20058 135708 56 @00 A — B+ 20 29 °C S5 20850, 24 min AT

Eoiraario Sk Soirzdto & made 208 13 e &80, 90 eTaiug

=

(i 2365) 07 (log 1.1 =0.046)
Options :

150.5

Question Number : 145 Question Id : 4509386545 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : NLA Think Time : N.A Minimum Instruction
Time : 0

Which of the following has maximum coagnlating power in the coagulation of positively charged
sol?

= W § ok ol i - 2, . 2 =
S ard apotidod (Sob 288 T8 183 pothd rsbiio ok
Options :

Cl™
1. ®

2.
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[Fe(CN)G]*

i
4

Question Number : 146 Question Id : 4509386546 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Idennty the autocatalytic reaction from the following

1808 735" 5000 @5 85 HBoHaw

Options :

Ny(g) + 3Hy(g) ——) . 2NHi(g)

E > Mo(s) S

1. =

o E‘hhlf._']';. i - :

2KCI0,(s) ————=—a IKCI(s) + 30,
2. R

CH,COOC,H; + H,O ——— CH;COOH + C;H;OH
3.+

AgNOylagHRCliaq) AgClis HENOy(aq)
4, 8

Question Number : 147 Question 1d : 4509386547 Display Question Number : Yes Is Question
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Mandatory : No Calculator : None Response Time : NLA Think Time : N.A Minimum Instruction
Time : 0

The anode and cathode used in electrolytic refimug of copper respachvely are

=06 DS §d0 S Godirfoch ash, o656 e Sham
Options :

Pure copper. impure copper

#e Tob. @dH8H0 5=Hh

1, "

Lmpure copper, pure copper

il 2050 b, HO b

Pure copper. pure zing

i 500, HS 2ol

-

Impure copper. pure zinc

o OD0DE OB H 208

Question Number : 148 Question Id : 4509386548 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : NLA Think Time : N.A Minimum Instruction
Time : 0

The disproportionanon products of ortho phosphorous acid are
T ST ,
& 0100 2300 Cws) eddoare didd i e

Options :

o H3POu, PH3

i
i“-m-ﬂ--- (A B L 1 o &8 R L L R & A 3 L B I N A R L J A &8 & R 2 3% R 1. R L _B QL_Q& A R L L A& 4 R & L L B 4L 4 2 _F_ A& 4 A & R L _ &R _J2_ R Q4 % L & R _R_J2 L .} ---‘
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HiPOh Hji POy
2 %

H3;POy. HPOs
3_ -

HiPO:, P2Ha
4. @

Question Number : 149 Question 1d : 4509386549 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time : 0

In neutral medrom potassmm permanganate oxsdises | to X. Identify the X
b airiddod Herhiobo SR, 17 escipeddd X m e g6t X &
hfoha

Options :

lodine

oA A T

1. =

Iodate
estB e

Per 1odate
H0 eclnE e

Hypo 1odite
= e ENEO

i“-m_“_--- (A B L 1 o &8 R L L R & A 3 L B I N A R L J A &8 & R 2 3% R 1. R L _B QL_Q& A R L L A& 4 R & L L B 4L 4 2 _F_ A& 4 A & R L _ &R _J2_ R Q4 % L & R _R_J2 L .} “-"-‘
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Question Number : 150 Question Id : 4509386550 Display Question Number : Yes Is Question
Mandatory ;: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time : 0
The spin ocnly magnetic moments of the complexes [Mn(CN).I" and [Co{C,0,),]*" are
respectively
Ma(EN) P afoin [Co(C0). A0Tls Bt ecrdé adiimod Erase
e

Options :

284 BM. 0BM

1.+
0BM. 2.54 BM
2. .
0BM. 387BM
= .
5.92BM., 1.84BM
4, &

Question Number : 151 Question Id : 4509386551 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : NLA Think Time : N.A Minimum Instruction
Time : 0

PHBV 15 a Inodegradable polymer of wo monomers X and Y, X and Y respectively are
PHEV @FH X, ¥ &7 Dotk 3rdad 8 38 cored rdedl. X Y &0 SHam

Options :

P . . - . . . .
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X=CHs-CH(OH)-CH: COH
Y =C2Hs»CH(OH »CO2H

X =CH3;~CH{OH}-CHxCO:H
> Y = C2 Hs=CH(OH )-CH2C OnH
2.
X = CH3-CH(OH}-CH:0H
Y = C; Hs-=CH(OH)-CH;CO:H
3_ e
X =HN-CH2z=COn H
Y= CH3:-CH{(OH)-CH>CO:H
4‘. -

Question Number : 152 Question 1d : 4509386552 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The carbohydrate whach does not react with anunomcal AgNO; solution 1s
&ATDES AgNO; [FI008 56) Sood 58 I ES

Options :

Sucrose

- co|8eF

Maltose

SrcSes

o
X

s
i“-m-ﬂ--- (A B L 1 o &8 R L L R & A 3 L B I N A R L J A &8 & R 2 3% R 1. R L _B QL_Q& A R L L A& 4 R & L L B 4L 4 2 _F_ A& 4 A & R L _ &R _J2_ R Q4 % L & R _R_J2 L .} ---‘
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Lactose
eSS
N
Fructose
o F F
g BEr

Question Number : 153 Question Id : 4509386553 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Tdentify the amino acid which has

—NH, . —COH and —"ﬁ_NHz growps
(8]
—NH; - —COH  H8ciy —C-NH; JHhrdedd

I
]
£8) @508 Daled @aDod Moo,

Options :
Alamine
DEITIeo

1. ®
Argimne

O

5 % ey i"_._fE'l

Asparagime

g G

5: o = h_{:_ll'“\.-
4.

P . . - . . . .
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Aspartic acid
. esn 85 a0

Question Number : 154 Question Id : 4509386554 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : NLA Think Time : N.A Minimum Instruction
Time: 0

The structure given below represents

S0d @ s ATrjo HNA Ardod).

NH, S0,NH;

Options :

Salvarsan

~res el olm

1. &

Pencillm

AT ,}{'51%‘.-'

£

Prontos=il

TSSO

Sulphapyndine

g erihBAS
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Question Number : 155 Question Id : 4509386555 Display Question Number : Yes Is Question
Mandatory ;: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time : 0
The major product (X) formed in the given reaction 1s an example of

06 D555 0T 106 S8 1010 (X) A8 2.8 st

HBr

(CeH: 0000,

Options :

Secondary alky] halide

28056 8,5 86

'| L -
Primary alkyl halide
= |20 e85 86
2.
Tertiary alkyl halide
BOohS a8, S FB6
3. 0B
Benzylic halide
2oBIE FB6
g -

Question Number : 156 Question Id : 4509386556 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : NLA Think Time : N.A Minimum Instruction

P . . - . . . .
i“-m_“_--- (A B L 1 o &8 R L L R & A 3 L B I N A R L J A &8 & R 2 3% R 1. R L _B QL_Q& A R L L A& 4 R & L L B 4L 4 2 _F_ A& 4 A & R L _ &R _J2_ R Q4 % L & R _R_J2 L .} “-"-‘

e e



Time: 0

Identify the Swarts reaction from the following

Bod o8 Hod ar el BE5e h8odhadn

Options :
o _ W dry i o

R-CH,-Br +Nal ——s R-CH, -1 + NaB
1. &

3R~ CH;— Br + 2Na—39¥ o R _(CH,), —R + 2 NaBr

; ether ks

-l:,'- =

2CHCl + 2 Na flﬂ = CH.— CH. + 28ac
5 % 2iher

IR-CH; —Br + CoF; #= JR—CH, — F +CoBr;
4

Question Number : 157 Question Id : 4509386557 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time : 0

An alcobol X {C4H ;0 reacts with Cone, HC 3t room temperaturs to gne Y (C4HaCl), Reaction
of X with copperat STIK pave Z What 15 27

2,58 SO X (CaHio0) (10 e 1eh 56 A HCI &' 505008 Y (CaelCT) b 2200,
SR SGXTHEE 5656 2 ad 00,208

Options :

g

e e

P . . - . . . .
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Z.wr
3, -

e COOH
I'i- -

Question Number : 158 Question 1d : 4509386558 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

What is Y in the following reaction sequence’

o8 Sy $ho & Y 287

(1) Mg/ dry ether
{1) O HEr (nch Sty
+ HeHO *=——— CHf . X —— ¥

{n) Za+Hy0 (CeHCON0, () CO,
() H;0"

Options :

/I\/ CHO

P . . - . . . .
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COOH

:II:..
“

Question Number : 159 Question Id : 4509386559 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time : 0

A carbonyl compound X (CyHs0) on oxadation eave a carboxyhe acid Y (CiHsOn). Crome of X is
2.4 5888 Ao X (ol ef3600 & FoEds elio ¥ (CHO) &
08, X Chos), @8 juh aB?

Options :

NH,

NOH

P . . - . . . .
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Question Number : 160 Question 1d : 4509386560 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time | NLA Think Time : N.A Minimum Instruction
Time : 0

The correct sequence of reactions mvolved m the following conversion is
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Options :

Bromination. reduction. carbvlamine reaction
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Reduchon. Brommanon, carbylamine reachon

£ oD¥600,  ([SHEAS,  sBI6IMS 5

Bromnation. reduction. oxidation
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